etape
date  date <pk>
NDEP int <fk2>
secu int <fk1> |
poste varchar(255)
salaire float
heure float

FK_TRAVAILLE_A

 FK_EST_A

departement
NDEP int <pk>
NTD int <fk1>
secu int <fk2>
nom varchar(1024)
adresse varchar(1024)
v A
FK_DIRIGE2
FK_DIRIGE
employe

secu int <pk,fk2>—=—

NDEP int <fkl1>

personne

secu int

nom Erchar(ZSS)
prenom varchar(255)
adresse varchar(1024)

<pk>

7/

FK_EST2

FK_EST_EN_VACANCE2

-
_TRAVAILLE?

travaille

date <pk,fki>

date
secu int
heures int

<pk,fk2>

1/1

jour

date date <pk>

v

FK_EST_EN_VACANCE

‘ est en vacance

date date <pk.fki>
secu int  <pk,fk2>




